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00 A repairman earns $3x per_hour plus $60 for traveling expenses%rite an  algebraic
expression to represent a bill for 15 hours of work (excluding taxes).
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00 Lauren buys x packages of lined paper for $2.25 each (taxes included). She pays with 2 $20

bill. Write an algebraic expression to represent the amount of change the cashier should give back
Stz T

to Lauren. ~1 o
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0@ Chatlotte pays $x for one doz\eqrf Shatpie markers. Write an algebraic expression to tepresent
. —
the cost of 75 Sharpie markers.
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0 O Simplify each of the following expressions.
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QO Sam sells tickets for the Junior High School Talent Show, he sells (7x — 9) $3 tickets
and (4x + 8) $4 tickets. Write a simplified alpebraic expression to represent the money Sam
made.
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D@ Find the simplified algebraic expression for tf this irregular
- polygon.
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